PreCalculus 12B
SEQUENCE AND SERIES

Name __________________

PART A   MULTIPLE CHOICE   [12]
_____1.  Determine t1250  for 12, 12.7, 13.4, 14.1, 14.8, …

            a. 887           b. 15887        c. –74.8          d.  886.3

_____2. The following is a list of terms in an arithmetic sequence: 8, 5, 2, -1, ….  Which of

              the following represents the general formula for tn
              a.  tn = -3n+5        b.  tn = -3n+11    c.  tn = 3n+5      d. tn=8n-3

_____3.  What is the value of r for the following sequence:   432, 360, 300, 250, ….

                a. -128          b.  1/2               c. 2/3                 d.  5/6

_____4. How many terms are in the following sequence: 6, 12, 24, … 24576

              a. 11             b. 12            c. 13           d. 14

_____5.  Given –56-52-48-44, …, determine S199 

            a.  67660         b.  –89948          c. –10352         d. 736

_____6. What is the value of “a” in an arithmetic sequence that has t7= 36 and d=-12

               a. 12                     b. 108                  c. 240                  d. 36      

_____7 The sum of the series 6+18+54+…  to “n” terms is 2184,  How many terms are in the series

               a.  5                     b.  7                    c.  8                     d.  6

_____8. Determine the number of terms in the geometric sequence: 1/81, 1/27, 1/9, … 531441

               a. 14            b. 15                 c. 16           d. 17

_____9. Determine the sum of the infinite geometric series: 800+ 300+225/2+…

               a. 1280             b. 1212.5          c. 1254.69            d. no finite sum

_____10. Determine the value of 
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              a. 120         b. 144        c. 160         d. 132

_____11.  Which of the following can be used to evaluate  
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         b. 
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               c. 
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_____12. Which series is a convergent geometric sequence?

                 a.  
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_____13.  Which of the following best describes the series –50 + (-45) + (-81/2) + (-729/20) + [image: image11.png]


?

	a.
	The series is convergent and has a sum of [image: image12.emf]500

.

	b.
	The series is divergent and has a sum of [image: image13.emf]500

.

	c.
	The series is divergent and has no sum.

	d.
	The series is convergent and has a sum of -172.


PART B

                           Do all questions for PART B on your own paper and show your work

[2]

1.  Write the general formula for :     130, 123, 116, 109, ...
       
[3]

2. List the first four terms of the sequence determined by  
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3. Determine the sum of each series:      a.   2.5 + 5 + 10 + 20 + ... + 163840             

                                                               b.   1890 + 1883 + 1876 – 1869 + ... -1624
[10]
4. a.  Given 
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  b.   Given 
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5. Determine if the infinite geometric series converges or diverges, if it converges state to what 

     value     :  
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6.  Evaluate the following limits:  
a.  
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                  d.  
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b.  
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[image: image23.wmf]2

5

2

4

x

x

5

x

5

x

2

x

16

lim

-

-

¥

®


c..  
[image: image24.wmf]x

x

lim

÷

ø

ö

ç

è

æ

¥

®

3

8

       
[3]

7.  The living Shangri-La is the tallest building in Metro Vancouver.  The ground floor of the building 
      is 5.8m high and each floor above the ground floor is 3.2m high.  There are 62 floor altogether 
       including the ground floor.  How tall is the building?

[7]

8. Using sigma formulas evaluate:

a. 
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